(3)
3. Answer any two questions from the following :
&x2=16
fa) Lxplain the summary statistics of a logit
model estimated by STATA. Interpret the
coefficients ol one qualirative and one
quantitative independent variables of a
hypothetical logit model. 5+3
{b) Interpret the estimated results of muiltiple
regression model given below where child
mortality rate [cm) is regressed on female
literacy rate (fir], per capita income (pcy)
and total ferulity rate {tfr).
Model Summary

I ! H
| Model . R R Adjusted sStd. Error of |

| i 15(.111’11‘(‘% R qt_[ud](’ ithe Estimate |
e ..__-_*_ ____j__ R i 1
11 \ 860 i 747 735 ‘} 39.13127

— e

[

a. Predictors: (Consrant), tir, pcy, flr

ANOVA
S T = e T smem T
! Model | Sum of df +  Mean i 1‘
4I_ Squclca ‘ ' Bquare Foo oS \
5| Reg:‘eqmon' 71}.864 61. 3 JJ6OO 872|859 168I 000"
e e
|

-
—

¢

Residual 918/ Aol (7(:‘ lool 256 ‘

\
ORI R
i

Total 3(7»0761.‘)90() i S‘J_J_

a. Predictors: (Constant, tr, pcy, flr
b. Dependent Variable @ cm
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The figures in the right-hand margin indicate marks.
Candidates are required (o gyive their answers
in their own words s furas practicable.

Hlustrate the answors iwwherever necessary.

Answer from all the Groups as directed.

GROUP—A

1. Answer any two (ucstions from the following -
2x2=4

@) Distinguish between an absolute and a
rclative measure of inequality,
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{2)
(b} Distinguish between Ginl coefflicient and
Gun index,

fej  Critically examine the concept of break
dummy as used by Perron (1989).

fd) Define and explain the unit consistency
axiom of inequality introduced in recent
time.

2. Answer dny two guestions from the fellowing
L | £
442=8

) Explain the conflict between convenience
and justice in the measurement of
mmequality. -+

() Relative mequality {Gint coeffinient) and
average MPCE [measured in Rs. at 2009-10
prices) for the vears 1999-2000, 2060405
and 2009-10 1 the urban sector of
[\clI‘ﬂcitde_ Wile munrl as .

’()()‘J )(V ) . /OF—L(Ju! 2009—10

('FC_ : U.\‘.‘L-?“x £ 0.360 0 %4 !

MPCE | 180704 150017 m@ Baw

Explain the naiure of change in mequalit._\f
i the State over the vears., &

i) What is population replication axiom? Show
that an index measure cannct satisfy this
axiom. 2
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3.

4.

{3}
(d) Distinguish between the rationales of using

o
AM and G in the constriuction of Human
Development Index (HDI). 4

Answer any one gucstion {rom the following :
Bxl=8
faj Explain RSS bascd measure of fluctuation -
and Coppock's measure of fluctuation, and
write a nore on adjustment needed for their
comparahility 3+3+2

(b} Explain the narure of growth of India’s GDP
coming {rom the manufacturing secctor
{GDPM] in terms of trend, break and
stationariiv of the series. 8

GROUP—B

Answer any two questions from the following
2x2=4
fa} Supposc one percent increase in home rate
of interest allows huge capital inflow to
India, while the same increase the home
rate of interest does not allow any capital
inflow te Bangladesh., Draw the BOP = 0
lines for India and Bangladesh.

(b) Briefly cxplain how Hybrid Exchange Rate
1s calenulated.
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5.

(&)
fop Write down the three maijor funciions of
public finance.

fd) Define Green NNP and write down its
ENPrEssIon.

Answar any two guestions from the following :
q=2=8

fa) Discuss anv one measure of trade openness
in the context ot the Indian economy.
Analvze the status of curreney convertibility
m India since hberalization. 2+2

fb) Write notes on revenue expenditure and
capital expenditure in Indian context. 4

(v} State Wapner's Law Discuss whether
Weagner's Law worles in India. 22
P |

felp Discuss how International {ransactions are
acvounted for with the help of goods,
SCrVices, capital and financial flows in a
country like India to muake all the pavments
in balancing situations, 4
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6.
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(5]

Answer uny one gucstion trom the following :

{u)

(b

8x1=8
Discuss the effvctivencsys of the fiscal and
monetary policies upon mcome under the
perfect and mperfest capital flow
conditions with fxced oxchange system.
Briefly explain how domestic absorption in
India is related 1o iis money supply.  6+2

Explain the orficariveness of fiscal and
monelary policies tporn sustainable income
and rate of interest uncer the conditions of
no pellution permit svstera and no investment
upon conservaiion capital, 44
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